1D pull distribution

0.01283 + 0.144

Mean

1.088 + 0.1019

Std Dev
Underflow

5541/6

Overflow
X2/ ndf

10.01+1.77
-0.1981+ 0.1917
1.153 £ 0.165

Constant
Mean
Sigma

67.42 /56

564.8

X2 / ndf

128.5

+

pO

Adet (ppb)

4000 —

_____
o
ls)
S
®

2000

1000

-2000




Adet RMS (ppm)

______________________L___L________________._||

W ®@ W o~ . 9 1 1 i
o0 o N~ © © © T} © <
o) o ) o o)

(wdd) sy

v'IE9Y
€TE9
c'TE9Y
T'TE9Y
0'TE9Y
7'0e9Y
£0e9v
209y
T'og9r
0'0e9Y
S'6297
'629Y7
€629
2'629Y7
16297
0'6297
¥'829Y
€829y
2’829y
T'8297
0'82¢9v
2'le9y
T'Leoy
0,29y
¥'929v
€929
[Ar4%14
T'9¢or
0'9¢97
€629y
2’929y
T'529v
0'Geov
v'veoy
€veoy
c'vesy
T'veor
0'veoy
ax4%4
£ecor
c'eedy
T'eeor
0€coy
&44%i4
X441
c'eedy
T'ceor
0ceor
v'Teoy
€129y
¢'Tedy
T'Teor
0’129y
€965
2'965Y
1965y
0'965Y



4000

3000

2000

1000

-1000

-2000

dit_asym_us_avg (ppb)

X2 / ndf

pO

67.42 /56
564.8 + 128.5

1D pull distribution

- Mean 0.01283 + 0.144
I Std Dev  1.088 + 0.1019
10 Underflow
Overflow
L X2/ ndf 5.541/6
sk
| Constant 10.01+1.77
B Mean -0.1981+ 0.1917
= Sigma 1.153 £ 0.165
4
2 —
0||||| el bl il
-8 -6 -2 0 2 6




ym_us_avg RMS (ppm)

dit_as

______________________L___L________________._||

W ®@ W o~ . 9 1 1 i
o0 o N~ © © © T} © <
o) o ) o o)

(wdd) sy

v'IE9Y
€TE9
c'TE9Y
T'TE9Y
0'TE9Y
7'0e9Y
£0e9v
209y
T'og9r
0'0e9Y
S'6297
'629Y7
€629
2'629Y7
16297
0'6297
¥'829Y
€829y
2’829y
T'8297
0'82¢9v
2'le9y
T'Leoy
0,29y
¥'929v
€929
[Ar4%14
T'9¢or
0'9¢97
€629y
2’929y
T'529v
0'Geov
v'veoy
€veoy
c'vesy
T'veor
0'veoy
ax4%4
£ecor
c'eedy
T'eeor
0€coy
&44%i4
X441
c'eedy
T'ceor
0ceor
v'Teoy
€129y
¢'Tedy
T'Teor
0’129y
€965
2'965Y
1965y
0'965Y



~ & o o ~ ~ © )
& o y ~ ) Q
® 3 5 © 5 =
hal 3 e} — = =]
S < o H ° +
+ ° o & + - ]
=] H ) © o .
b =2} 3 I o =
N S s 8 = —]
8 =] m
S . & sz _ ]
@ < K] k=1 8 ]
§ S ¢ 3 2 ¢ § ¢E
c ] = c > ~ S [} k=J
m = 4] =) o < () = n
5 —
b =
2 [— ]
Rl = -
© -
= -
o —
(@)
i
L L P IS T NSRS N N S N RS R | .
© <
o
-
O — o
© +H —— S -
& ——— —
——— —
n — —
o ———— —
o —_—— —
hre) — e —— -
— —
—_— —
——————
—_— —
k] I 3
—— —
c —— —
-~ |..|.|. .
wel = ]
——— -
——1— -
—~ —_———— -
o) —————— -
o — e ——— —
o — o1 -
~ b 1
5 N —— -
—_—— —
U_ e —
— 1 —
m — —
——— —
7} — 3
——— —
a_ — .
———— —
= — — —
© —_— —
———— —
— —
——— —
—_—— —
———— —
H—0— —
——— -
—_—— —
——— —
—_— —
——— -
—_— —
—— —

4000

2000
—-2000
-4000 —




ym_usr RMS (ppm)

dit_as

_____._
____________________
N~ © [To) < ™ N =
™ ™ ™ ™ ™ ™ ™
— — — — — — —

(wdd) sy

o
™
-

v'IE9Y
€TE9
c'TE9Y
T'TE9Y
0'TE9Y
7'0e9Y
£0e9v
209y
T'og9r
0'0e9Y
S'6297
'629Y7
€629
2'629Y7
16297
0'6297
¥'829Y
€829y
2’829y
T'8297
0'82¢9v
2'le9y
T'Leoy
0,29y
¥'929v
€929
[Ar4%14
T'9¢or
0'9¢97
€629y
2’929y
T'529v
0'Geov
v'veoy
€veoy
c'vesy
T'veor
0'veoy
ax4%4
£ecor
c'eedy
T'eeor
0€coy
&44%i4
X441
c'eedy
T'ceor
0ceor
v'Teoy
€129y
¢'Tedy
T'Teor
0’129y
€965
2'965Y
1965y
0'965Y



g 2 © © @ 3 & 8
33 g 2 & 3
o o 3 W 2 +
+H +H n © H ~ -
DA 2 5 h
g d L 5 2 N
g N S -
o =3
E 3
> m 3 €
) <) 2 k=1 8 o
c|§ 5 ¢ § S £ § §
ol & 5 &8 = &8 2 &
) .
= fin
b =
i ]
0 ]
© S ]
= -
a ]
o -
i
. N IR BRI . N ]
© < N o [ee] o
— - - i
© ©
e
-
0 i —
—— —
M + . — .
~ < —e—— 3
n ———— —
i —— —
—— -
© —_— —
—— -
. ——— —
—lo—— —
Y— ———— -
© —
n —
N =] .
< Q] .
o) =
L o— —
Q. —
=1 — -
~ ——— -]
@ —— 3
U_ — -
L ——— —
m —lo—— ]
> —e——
2 ——— —
a_ —— —]
—— —
= ——1— -
© ——— —
——— —
—— -
—— —1
——— —
— —
——— —
— -
——— —
—— —
———— -
—— —
——1— —
N P _
——l——— —
——— —
—_—— —
—— —
L1 Ll T | =
o o o o o o
o o o o o
o o o o o



ym_usl RMS (ppm)

dit_as

(wdd) sy

v'IE9Y
€TE9
c'TE9Y
T'TE9Y
0'TE9Y
7'0e9Y
£0e9v
209y
T'og9r
0'0e9Y
S'6297
'629Y7
€629
2'629Y7
16297
0'6297
¥'829Y
€829y
2’829y
T'8297
0'82¢9v
2'le9y
T'Leoy
0,29y
¥'929v
€929
[Ar4%14
T'9¢or
0'9¢97
€629y
2’929y
T'529v
0'Geov
v'veoy
€veoy
c'vesy
T'veor
0'veoy
ax4%4
£ecor
c'eedy
T'eeor
0€coy
&44%i4
X441
c'eedy
T'ceor
0ceor
v'Teoy
€129y
¢'Tedy
T'Teor
0’129y
€965
2'965Y
1965y
0'965Y



dit_asym_us_dd (ppb) 1D pull distribution
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